
 
 

ELEMENTY NIWELETY 
 

 
-------------------------------------------------------------------------------------------------------- 
 ELEMENT          OD           DO           SPADEK         L/T        R       B     
                                             [%]           [m]       [m]     [m]    
-------------------------------------------------------------------------------------------------------- 
 prosta         0+015,00    0+038,00       -2,087         23,00                                                                            
 prosta         0+038,00    0+076,00       -1,658         38,00                                                                            
 prosta         0+076,00    0+119,74       -1,300         43,74                                                                            
 łuk wklęsły    0+119,74    0+132,26                       6,26  1000,00    0,02 
 prosta         0+132,26    0+147,00       -0,048         14,74                                                                            
 prosta         0+147,00    0+238,72        0,342         91,72                                                                           
 łuk wypukły    0+238,72    0+248,28                       4,78  1200,00    0,01     max.   pik. 242,825 rzęd. 
115,851 
 prosta         0+248,28    0+287,50       -0,455         39,22                                                                            
 prosta         0+287,50    0+296,85       -0,229          9,35                                                                           
 łuk wklęsły    0+296,85    0+313,14                       8,15  1200,00    0,03     min.   pik. 299,597 rzęd. 
115,635 
 prosta         0+313,14    0+336,00        1,129         22,86                                                                           
 prosta         0+336,00    0+347,50        0,261         11,50                                                                           
 prosta         0+347,50    0+372,79       -0,933         25,29                                                                            
 łuk wklęsły    0+372,79    0+397,21                      12,22  1200,00    0,06     min.   pik. 383,985 rzęd. 
115,712 
 prosta         0+397,21    0+416,53        1,103         19,31                                                                           
 łuk wklęsły    0+416,53    0+431,47                       7,48  1800,00    0,02 
 prosta         0+431,47    0+454,00        1,933         22,53                                                                           
 prosta         0+454,00    0+489,24        2,500         35,24                                                                           
 łuk wypukły    0+489,24    0+518,76                      14,76   700,00    0,16     max.   pik. 506,739 rzęd. 
117,760 
 prosta         0+518,76    0+550,00       -1,717         31,24                                                                          
 prosta         0+550,00    0+584,29       -2,275         34,29                                                                            
 łuk wklęsły    0+584,29    0+595,71                       5,71  1000,00    0,02 
 prosta         0+595,71    0+603,33       -1,133          7,63                                                                           
 łuk wklęsły    0+603,33    0+636,66                      16,67  1000,00    0,14     min.   pik. 614,667 rzęd. 
115,995 
 prosta         0+636,66    0+700,58        2,200         63,92                                                                           
 łuk wypukły    0+700,58    0+719,42                       9,42  1000,00    0,04 
 prosta         0+719,42    0+764,00        0,315         44,58                                                                           
 prosta         0+764,00    0+860,00       -0,135         96,00                                                                            
 prosta         0+860,00    0+937,64       -0,358         77,64                                                                            
 łuk wklęsły    0+937,64    0+972,36                      17,36  2500,00    0,06     min.   pik. 946,583 rzęd. 
117,596 
 prosta         0+972,36    1+019,00        1,031         46,64                                                                           
 prosta         1+019,00    1+057,00        0,368         38,00                                                                           
 prosta         1+057,00    1+094,00       -0,541         37,00                                                                            
 prosta         1+094,00    1+132,04       -1,000         38,04                                                                       
 łuk wklęsły    1+132,04    1+153,98                      10,97  4500,00    0,01 
 prosta         1+153,98    1+215,27       -0,512         61,29                                                                            
 prosta         1+215,27    1+230,00       -1,154         14,73                                                                            
 
 


